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31531200 L1h\uptu\uh 1uilq }Z huln 6 500 195 000 30

31685000 h hL urnurL urh hnL unurqilruh t urnhn hunn L 600 64 000 40

33761000 qnqurpurh[ pnllp, nmlnhnrl q2 hunn 150 150 000 1 000

31531300 urhurtunl luiluqhp s2 hrurn 2 500 250 000 100

31531200 L1h\tnpu\ruh ludq hurur 2 s00 62 500 25

31531200 L1h[upu\urh lurtlq hunn 1 800 4s 000 25

18141100 u2]uuruurLpurlf b &hnhngbhp YZ- lnllq 200 28 000 1,40

18141100 ur2]uruurruhpur3 f h &hntrngbtp sz lnl-lq 400 8 000 20

398r2410 \uhnr3pf $url1bgilruh ilf2ng qz hruur 500 7 500 15

39831100 3lurgnl Ljntphp huln 400 40 000 100

39831242 Lqurlplr $n2f &hnpn{ llurhurlnr hurlurp urnr$ 887 88 700 100

39831241, odurn d.hnplr hurur 230 34 500 150

39831245 odurn hhrlnr\ f4 t_tr*tt 700 42 000 60

39s222so fn2nr hrur{rupilruh \nnphhp J4 huru 3s0 3s 000 100

39522330 ilurppnl \unpLhp hurur 560 72 600 110

18130000 hurnnr\ rupururhurqnruur f4 hunn 15 000 150 000 10

18130000 htuurnr\ urprnuhurqnturn sz huln 3 000 160 000 20

19641000 qn$hpflhhurthl, qul\, urlp[ hullurp s2 huln 3s0 36 750 L05

244511.40 urlurnurhruhfr2 trlntp
hurur 300 30 000 100

2445t1,40 urlurnruhurhlr2 trjmp q2 hrurn 1 100 56 000 60


